
Year 2 Worksheet 7: Mixed Addition & Subtraction

Question 1: Find the missing numbers.

4 + __ = 9 __ - 3 = 5 2 + __ = 6

7 - __ = 4 __ + 4 = 10 3 - __ = 1

5 + __ = 10 7 - __ = 2 __ + 8 = 13

9 - __ = 3 3 + __ = 7 6 - __ = 2

__ + 9 = 14 7 - __ = 3 __ + 6 = 9

5 - __ = 2 __ + 2 = 10 9 - __ = 4

6 + __ = 11 4 - __ = 1 6 + __ = 9
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Question 2: Answer the following.

47 + 5 = __ 63 - 8 = __ 34 + 9 = __

76 - 3 = __ 58 + 2 = __ 49 - 7 = __

82 + 4 = __ 56 - 2 = __ 38 + 6 = __

91 - 5 = __ 25 + 3 = __ 71 - 4 = __

42 + 8 = __ 64 - 1 = __ 79 + 2 = __

37 - 6 = __ 54 + 7 = __ 89 - 9 = __

66 + 5 = __ 43 - 2 = __ 78 + 6 = __
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Question 3: Answer the following.

1 Emma had 15 marbles, and she gave 6 marbles to her
friend. How many marbles does she have now?

2 There are 23 students in the classroom. 8 students left for a
field trip. How many students are still in the classroom?

3 Mia had 42 stickers, and she received 7 more stickers from
her teacher. How many stickers does Mia have now?
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4 Alex had 36 toy cars, but he lost 9 of them. How many toy
cars does he have left?

5 There were 54 apples in a basket. Then, 20 apples were
taken for making a pie. How many apples are left in the
basket?

6 Emily had 28 pencils, and she gave 15 pencils to her
classmates. How many pencils does Emily have now?
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7 There were 67 books on the shelf. 23 books were
borrowed by students. How many books are still on the
shelf?

8 Liam has 51 candies. He shared 18 candies with his sister.
How many candies does Liam have left?

9 There are 39 children playing at the park. 14 children went
home. How many children are still playing at the park?

10 Sophie had 60 stickers, and she bought 28 more stickers
from the store. How many stickers does Sophie have now?
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Answer Key

Question 1: Answer the following.

4 + 5= 9 8- 3 = 5 2 + 4= 6

7 - 3= 4 6+ 4 = 10 3 - 2= 1

5 + 5= 10 7 - 5= 2 5+ 8 = 13

9 - 6= 3 3 + 4= 7 6 - 4= 2

5+ 9 = 14 7 - 4= 3 3+ 6 = 9

5 - 3= 2 8+ 2 = 10 9 - 5= 4

6 + 5= 11 4 - 3= 1 6 + 3= 9
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Question 2: Answer the following.

47 + 5 = 52 63 - 8 = 55 34 + 9 = 43

76 - 3 = 73 58 + 2 = 60 49 - 7 = 42

82 + 4 = 86 56 - 2 = 54 38 + 6 = 44

91 - 5 = 86 25 + 3 = 28 71 - 4 = 67

42 + 8 = 50 64 - 1 = 63 79 + 2 = 81

37 - 6 = 31 54 + 7 = 61 89 - 9 = 80

66 + 5 = 71 43 - 2 = 41 78 + 6 = 84
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Question 3: Answer the following.

1 Emma had 15 marbles, and she gave 6 marbles to her friend. How
many marbles does she have now?
Answer: 15 - 6 = 9 marbles

2 There are 23 students in the classroom. 8 students left for a field
trip. How many students are still in the classroom?
Answer: 23 - 8 = 15 students

3 Mia had 42 stickers, and she received 7 more stickers from her
teacher. How many stickers does Mia have now?
Answer: 42 + 7 = 49 stickers

4 Alex had 36 toy cars, but he lost 9 of them. How many toy cars does
he have left?
Answer: 36 - 9 = 27 toy cars

5 There were 54 apples in a basket. Then, 20 apples were taken for
making a pie. How many apples are left in the basket?
Answer: 54 - 20 = 34 apples

6 Emily had 28 pencils, and she gave 15 pencils to her classmates.
How many pencils does Emily have now?
Answer: 28 - 15 = 13 pencils

7 There were 67 books on the shelf. 23 books were borrowed by
students. How many books are still on the shelf?
Answer: 67 - 23 = 44 books

8 Liam has 51 candies. He shared 18 candies with his sister. How
many candies does Liam have left?
Answer: 51 - 18 = 33 candies

9 There are 39 children playing at the park. 14 children went home.
How many children are still playing at the park?
Answer: 39 - 14 = 25 children

10 Sophie had 60 stickers, and she bought 28 more stickers from the
store. How many stickers does Sophie have now?
Answer: 60 + 28 = 88 stickers
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